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1. Introduction
In the last RAN4 meeting, there were some discussions on testing of ACS & IBB in FR2 based on [1]. The following agreements have been reached. 
Agreement: proposal 1 and 2 are agreed. Companies are encouraged to share their views on proposal 3. Other options are not precluded. 
Proposals in [1] are listed below.
Proposal 1: ACS and IBB are tested on both θ- and ϕ-polarizations sequentially.

Proposal 2: For testing on each polarization the levels of the wanted signal and the interferer are reduced by 3dB.

Proposal 3: RAN4 endorses either option 1 or 2 below:

   Option 1: The UE needs to pass the test on both polarizations to fulfill the requirement.

   Option 2: The UE needs to pass the test on only one of the polarizations to fulfill the requirement.

This contribution gives our view on this issue. 
2. Discussion
In our understanding, support of two polarization receivers should be a basic feature required for FR2 NR UE. The receiving RF chains for the two polarizations should have the same filtering characteristics to meet the minimum requirements defined in the specification.
It was agreed that ACS and IBB are tested on both θ- and ϕ-polarizations sequentially. The wanted signal and the interferer have the same polarization. The ratio of wanted signal power level and the interferer power level are set as the same for both polarization receivers. The ACS and IBB minimum requirement for a polarization receiver both should be the same as for a single receiver chain. It is believed that the two polarization receiving chains need to meet these minimum requirements.
So, it is proposed to adopt option 1.

Proposal: RAN4 should endorse option1, i.e. The UE needs to pass the test on both polarizations to fulfill the minimum requirements for ACS and IBB.
3. Conclusion
This contribution discussed the open issue on ACS and IBB testing issue.
Proposal: RAN4 should endorse option1, i.e. The UE needs to pass the test on both polarizations to fulfill the minimum requirements for ACS and IBB.
4. Reference

[1]
R4-1804846, Discussion on testing of ACS & IBB in FR2, Rohde & Schwarz
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